5% for each question

1. For y"+3y'+2y=t,itsgeneral solutionis (1) y=ce'+c,e*+At (2) y=ce +c,e*+At+B

(3) y=ce'+ce®+At (4 y=ce'+ce” +At+B (5) None

t Jat Jat

2. For y"+y'+y=¢e', its general solutionis (1) y= eE(cl cosT+ czsinT

J3t J3 3t 3t

t _t
(2 y:ez(clc037+czsin%)+Ae‘+B 3) y=e 2(clcosT+czsinT

Jat NE

_t
4) y=e? (clcosT+ czsmT

) + Ae'
)+ Ae'
)+ Ae' + B (5) None
3. For y"+2y'+y=sint, its general solutionis (1) y=ce™" +c,te™ + Asint + Bcost
(2) y=ce'+cetInt+Asint (3) y=ce" +ce’Int+ Asint + Bcost
(4) y=ce " +Asint+Bcost (5) None
4. For x’y"+3xy'+y =X, its general solutionis (1) y=cx "+ Ax+B
(2) y=cx +cxInx+Ax+B (3) y=cx ' +cx'Inx+Ax (4) y=cx'+c,x'Inx+B
(5) None
5. For x’y"—2xy'+2y=In®x, its general solution is (1) y=cX " +c,x7>+ Aln®x
(2) y=cx+C,x*+AIn°x (3) y=cx+C,x*+AlIn*x+BlIn®x
(4) y=cx+c,x*+AlIn*x+BIn’x+ClInx (5) None

o 0 t<0
6. Given F(s):J'O f(t)edt and u(t)z{l tio,then the Laplace transform of t’u(t—1) is

S

3

W2@LeS @ ©none
S S S

o
S
S 3 3

2 — (3) (4) PERIT

7. The Laplace transform of e*sin3t is (1) 5 5
$°+9 $°+9 s°—4s+9
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8. The Laplace transform of t?f (t) is (1) d digs)

@) F(s)e® (3) s°F(s) (4) Fs(f) (5) none
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9. For anonsingular square matrix A= 2 ,then (1) A™= (2 A At=LC @]
c d bc - ad —bc
d b} {d —b}
c a
3) At= t———— (5)none
) d bc @ A bc —ad ®)
210 4 10 4 4 1 8 4 1
10. GivenA=0 2 1| ,then(l) A*=|0 4 1| (2) A*=|0 4 4| (3) A°=|0 8 4
0 0 2 0 0 4 0 0 4 0 0 8
8 40
(4) A*=|0 8 4| (5)none
0 0 8

-1 1
11. The eigenvalues of Az{ A 2} are: (DA =34=-2 Q4 =2,14,=-3 QA4 =41,=-3

(4)A, =-3, 4, =4 (5)none

12. The value of [1 Zf'j ST D1 @-1 (30 @2 (5 None

13. The derivative of f(z)=2z°-2iz* +6-3i at z,=2i is : (1)8 (2-8 (3)16 (4)-16
(5) None

14. The solution of the partial differential equation u, =y +siny with u(l, y)=y’
(1) u=xy*+xsiny+y*—y*—siny (2)u =xy> +ysinx+y*> —y® —sinx
(3) u=xy*+xcosy+y>—y?—cosx (4) u=xy’+ycosx+y’—y?—cosy (5) None

15. The interval of the function f(x)=53in§x is (1) 7 (@27 ()37 @A)4r (5 None

16. The radius of convergence of the series z Dynis 11 23 (35 (@) 7 (5 None

n
o O

17.A=(2 -1 4) > B=(-1 4 3)» C=(3 1 ,~1), which of the following is correct?

()A(BxC)=-36 (2) A(BxC)=-74  (3) B-(AxC)=28  (4) B-(AxC)=46
(5) None



18. f(x,y,z)=xy+e”, J:(\/%’E’\/ﬁ) , which of the following is wrong?

(1) Vi(xy,z)=(f, f,, f,)=(y, x+ze”,ye”) (2) Vi(@,0,1)=(0,2,0)
(3) D, f(x,y,2)=— (x+zeyz)+iyeyZ 4) Duf(l,l,O):i
r T Jia N
19. A=(xz ,yx ,zy),which one of the following is correct?
1) divK:z+x+y (2 divK:xz+yx+zy

@) curl A=(x,V,7) 4) curl A= (yz,xz,xy) (5) None

20. About even function and odd function, which one of the following is correct?

(1) f(x)=x* isodd function (2) f(x)=x> iseven function

(3) f(x)=xsinx isodd function (4) f(x)= e is odd function (5) None

(5) None



